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101. Two pipes A and B can fill a tank in 10 hours and 15 hours respectively. Find the time taken 

~~the tank when both the pipes are turned on simultaneously. 

(A'f 6 hrs. · (B) 5 hrs. 

(C) 30 hrs. (D) 12 hrs. 

A w!i>l!)llil B ~9T!D @® ®wrr.Ua;m @mwCIU 10 w.ml w!i>l!)llil 15 wQllfl C)!i1Jffii11>.nlro vi® ff,ir~ Qj!irrL."1-mllJ 

)bi1JLIL.jllil9T!!)QT ~Q\lro ~Qi~® ®WrruJB>~Lil C6irffl ~~QlbrrL"l-QlllJ .ffi]IJUU ~@~8; Qa;rrar~ti:> C)!ifJLi> 

~QJQJQTQj? 

(A) . 6 wQllfl . 

(C) 30 wQZfl 

(B) 5 wQllfl 

(D) 12 wQZfl 

102. Two cubes each of volume 216 cma are joined to form a cuboid. The total surface area of the 

resulting cuboid is (in cm2) 

(A) 120 

(C) 300 

<Br'" 360 

(D) 240 

216 · cm3 
"''"' ~"'QJ Qa;rr.,;.r,_: @® "''"' ~!Jffiia;ar @1JtiormL14Lil G.<ITTffl Vl® """' Q66iJrua;til 

~rurr!i;a;uu@llil!Di9J· ~Jbib "''"' Q66ilru~9T Qwrr~ u!i;a; u1Jut519T w~uy (,..Q,uo.) 

(A) 120 

(C) 300 • 

(B) 360 

(D) 240 

103. ·The sum of two numbers is 187 and their HCF is ·17_ What is .the number of such pairs of 

numbers satisfying the above condition? 

(A) One 

(~Five 
(B) Four 

(D) Seven 

@® ~tiora;efl9T &.L.@~ Qibrrma; 187. Cw~til ~ru!i>!J5l9T ..O.Qu.ru. 17. @jbj!i )blu~QlllJU iJir~ 

QlftiJ11J!i;&."1-11J Ct!lrr"l-a;efl9T ~tiorQZfl!i;QJa; ~~mm? 

(A) ~l!ll 

( C) 1£.!i;191 
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104. The 5th term in the series 

2 6 18. 
5· 25' 125' 

... 

IS 

(A) 
162 

(B) 
81 

625 3125 

(C) 54 ~62 
625 3125 

2 6 18 · . · . . .a · .. n ·· 5 • · - - -- ••• '"'"'!D """"lliJ"" QJ111Ql8'u:11Ql -LO" ""Li' ' 5 ' 25 ' 125 ' . . "'"" "' - ..., 

(A) 

(C) 

162 
625 

54 
625 

(B) 

(D) 

81 
3125 

162 
3125 

105_ Find the missing number. 

(A) 22 

(C) 28 

(A) 22 

(C) 28 

GTPA/13 

25 

35 

45 

25 

35 

45 . 

28 

7 18 

13 22 
. 

8 ? 

~37. 
(D) 17 

7 18 

13 22 

8 ? 

. (B) 37 

(D) 17 
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106. The next figure is 

(A) 

(C) 

(A) 

(C) 

29 

(D) . 

(B) 

(D) 

• 
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107. Match the following : 

(a) Tax on income 

(b) Sales tax 

(c) Interest receipts from railways 

(d) Court fees 

(a) (b) (c) (d) 

<¥ 2 4 3 1 

(B) 1 3 2 4 

(C) 1 2 4 3 

(D) 4 3 1 2 

1. . Non tax revenue of State Government 

2. Tax revenue of Central Government 

3. Non tax revenue of Central Government 

4. Tax revenue of State Government 

(a) QJ(!!)LDIT"'1 ruITl 1. tnrrif,JQ) .!9!1J6lo;in ruITluSlroQ)rr ru@Mmi.i 

QJLDIU .!911J6\o;iif ruifl QJ(!!)QJITUJ (b) bl5l!iJu..,"'1 ruITl .2. 

(c) ~17uSlro~ruuSlrol@Jt191.$1..,LI;@it.il ruL_"I- rulJG><"'"' 3. 

(d) ~mi-L@ BiLLQA!Tri.JBim 4. 

(a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 1 3 2 4 

(C) 1 2 4 3. 

(D) 4 3 1 2 

QJLDtu .!9!1J61Qi ruITluSlroQ>rr ru@rurrli.J 

LDITif,lQ) .!911J6\Qr ruifl Q,(!!)QJITUJ 

108. Which among the following sectors has the largest contribution to the Gross Domestic 
Savings in India? 

(A) 

(C) 

Public sector 

Unorganised sector 

(B) /rivate sector 

(19{ Household sector 

t51Qi QBirr@.$.$uuL_@mar 191""!1>"'.nlro c;rJtp; 191""!1> .@.it1!ihurrbl51Qi QLDrr~ p;rrL_@ ~ul1ut5lro u\1"' .!9ii!il"' 
uli.JBi.nlULj Qlfli.i.$1Qi!Dj!i!? 

(A) Qurr191~ ~""!D (B) ~..fltumr ~""!D 
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109 .. Match the following : 

List I 

(a) Darwin 

(b) Mendal 

(c) Lamarck 

(d) Hygo De Vries 

(a) (b) (c) (d) 

<Af' 4 3 2 1 

(B) 2 1 3 4 

(C) 3 4 2 1 

(D) 1 3 4 2 

£~LQJJDQljD ..ml1Urra; Gurr~a; : 

aJil!Q)B' I 

(a) Lrrir6fil6iJ 

(b) QlDQorLQJ 

(c) Q)1T1Drrir.$ 

(d) .$.".Ga;rr "1-aJilliiu 

<a> (b) (c) (d) 

(A) 4 3 2 1 

(B) 2 1 3 4· 

(C) 3 4 2 1 

(D) 1 3 4 2 

---~- -

List II 

1. Mutation 

2. La.w of inheritance of acquired characters 

- 3. Law of segregation 

4. Origin of species 

aJil!Q)B' II 

1. ~iaftlDITJDjDLD 

2. p;@6fil~ u6iorya;6ir uill-rrlD 6fil~ 

3. p;E;O\l~ iSlillp;Qi 6fil~ 

4. 51Jili6lEIT ~ITJDjDLD 
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110. Which of the following statements about Blue Green Algae is/are true? 

I. · The cells of Blue Green Algae are Prokaryotic. 

II. The storage food product of Blue Green Algae is Laminarin. 

III. The membrane bound plastids are absent in the cells of Blue Green Algae. 

IV. Flagella are .absent in Blue Green Algae. 

(A) II andIV 

(C) II and III 
(B) ~andII 

c1'f I, III and IV 

~Q)U u6Qi6 u1r81a;9r uJi>J61UJ .119~L 8il.JD!J)l.$'1l!W IFrllUJITQl(Jl fiffJl/ fiflillQJ? 

I. ~ruu u6'1>1Fu u1r81a;Glllar QB'Wa;m '-lC11~rllCUJ1rL."l-5 QJQ)a;Q>UJBo 1F1rir/i;~aJ. 

II. ~Q)LJ u6Qi6u u1r81a;Glllar <:.!FullLiL.j "'--QfU. GUIT(!liQr Cruullc:..m!lar. 

III. 6'ilQf ~Iii~ a;afla;ri.Ja;m ~Q}LJ U6'1>6 u1r81a;Glllar Q~ro@roQlQJ. 

IV. ~ruu u.%i>1F u1r81a;Glllro a;Q)6u5llill~ @rolillru 

(A) . II LDJDllJILD IV 

(C) II tnJi>llJILil III . 

(B) I tnJi>ll)ILil II 

(D) I, III tnJi>!J)ILil IV 

111. Consider the following dice 

2 6 

What is opposite to 3? · 

(A). 1 . .o/4 (C) 5 

(A) 1 (B) 4 (C) 5 
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112. Match the List !with the List II and select the correct answer using the codes given below 

the list. 

List I 

(a) Calcutta Congress (1928) 

(b) Lahore Congress (1929) 

(c) Karachi Congress (1931) 

(d) Ramgarh Congress (1940) 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 4 3 2 1 

(e('3 4 1 2 

(D) 1 3 4 2 

1. 

2. 

3. 

4. 

List II 

Resolution on Fundamental Rights and Economic 

Policy 

Two Nation Theory 

Dominion status 

Complete Independence 

QJi\lro,. I :t-L6ir aJillrolf IIre Qurr(!9~ QJ!f\Qill'.$@i.$ £w Qa;rr@.M;uuL.@mm Gp;rr@iLit5l'61Q!iJi;l?il Qi\roLQlw 

Qp;illQJ Q,.ii.J. 

(a) a;Qi~rr a;rrri.Jllilr,rw (1928) 

(b) Q)fT&.rr a;rrri.Jllil1T9u (1929) 

(c) a;r,rrrafil a;rrri.illilr.rw (1931) 

(d) itrrtba;rrrr a;rrri.J!lilr,rw (1940) 

(a) (b) (c) 

(A) 2 3 4 

(B) 4 3 2 

(C) 3 4 1 

(D) 1 3 4 

1. 

2. 

3. 

4. 

(d) 

1 

1 

2 

2 

~,.._LJuQ>L :t-i\lQ>LD5m lD!i>!lJlli> Q·urr(!!jmrrp;mr Qa;rrarQla; 

t.Sp;rrQT ~rrlDrrQTli> 

@®!!irr@ Qa;rrarQla; 

QLrrull61f1w6ir ~~Qul?jl 

<!1'<!9 a;p;Ji;i:!il l)"tb 
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113. Which is wrongly matched? 

I. The Santhal's Rebellion, 1855. 

II. Moplah Rebellion, 1921. 

III. Vellore Mutiny, 1806. 

IV. Barrackpore Sepoys Mutiny, 1804. 

(A) I only 

(C) III only 

)'!.iQJ!JJITQIT Qurr~p;.$ _.,.@t.Sl~Qjtli. 

I. lflTQri!irrrorrrrm a;Q)a;Li>, 1855. 

II. tnrruCsr 1£Q)l£Li>, 1921. 

III. Cai§lJ!rr a;Q)a;Li>, 1806. 

IV. ul)"liil.J,rr 6luumua;9r 1£Q)a;Li>, 1804. 

(A) I LDL@Li> 

(C) III LDL@Li> 

. (B) II only 

cB('IVonly 

(B) II LDL@Li> 

(D) IV LDL@Li> 

114. Arrange the following events in descending order. 

I. Home Rule League at Poona. 

II. Conclusion of Kakori Case 

III. Murder of S.P. Saunder 

IV. /unjab Governments deportation order of Dr. Satyapal and Dr. Kitchlew 

CM I, IV, II, III . (B) III, II, IV, I 

(C) IV, III, I, II (D) I, III, II, IV 

t.SIQ!QJ(!9LJQITQJl£QlST ILIU(!9 ~QITQ)uSJQi IOJlDUlr@ QIFtiJIUQjtli . 

.I. 1.J,QITIT ~mrrL6l a;[,j!1£Lil IOJlDLI@HLiuL..L 4filr@ 

II. a;rrCa;rnll QJ~ QP"l-aJlD!D 4filr@ 

III. S.P. <OllfSTEiruT Qa;rrQITQ> Qlftii1UULJLL 4filr@ 

IV. LITliiLI ~IULJIT0 LDfi>l!)ILi> LITliiLI Ail~Q.o U~rrU-~l)"lflTW )lilT@ 1£~ULJLL ~@ 

(A) I, IV, II, III (B) III, II, IV, I 

(C) IV, III, I, II (D) I, III, II, IV 
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115. Consider the given figure of location of multipurpose projects in India. Match List I with 
List II and select the correct answer using the code given below list. 

Listi List II 
Multipurpose Dam name 
Project Number 

(a) I l. Bakra 
(b) II 2. Gandhi Sagar 
(c) III 3. Nagarjuna Sagar 
(d) IV 4. Hirakud 

(a) (b) (c) (d) 

(A) 2 1 4 3 
(B) l 3 2 4 
(~ 4 1 2 3 
(D) 3 2 1 4 

Qa;rr@M;uuL..@arsr@)i;~hurrQilo;ir uro<!p;rr.$(!1; ~LLri.Ja;ar "-ffiST U~QlQI.$ a;®UJro Qa;rrara;. 
QJi\lQllf I "-LQr ruilla>lf IIroEillu Qurr~ 6iil1UrrEill ®!61.0@l!...Q,.sr ud;)roru!i; ~ir)i;Q15@5a;. 

ruillrolf I ruillrolf II 

uroCp;rr~ d;)LL 6Tlliofa;ar ~ro-u Qu1Uir 

(a) I l. u.$!)"rr ~ro-
(b) II 2. a;rr~ lfrra;ir 
(c) III 3. p;rra;rrir~-9Eil!IT lflTa;ir 
(d) IV 4. ~!TIT(!l;L 

(a) (b) (c) (d) 

(A) 2 1 4 3 
(B) 1 3 2 4 
(C) 4 1 2 3 
(D) 3 ·2 1 4 
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116. Match List I with List II and select the corre~t answer using the codes given below the lists. 

List I List II 

Mineral ore Mineral extracted 

(a) Magnetite 1. Mica 

(b) Casserite 2. Coal 

(c) Anthracite 3. Iron 

(d) Muscovite 4. Tin 

(a) (b) (c} (d) 

(A) 4 1 3 2 

(B) 2 3 I 4 

(C) 3 2 4 1 

~~ 4 2. I 

8'11UJITQI 61i)Q>Li6}Q)QJ~ Qp;iflQl QIAiJl!i .. 

GJfilAllf I GJi!lQ)lf II 

!!ia!lLD~IT~ ~ill&lliuu@ti> lliQ\JLDtil 

(a) C:LDl!iQILQ>i...,.L 1. mtnUrr 

(b) lli~i;L.. 2. ~Q)a.aiill 

(c) ~p;i;roHL.. 3. @(ljjlil4 

(d) LD9u<:!!irrroGJL.. 4. p;!!iljtD 

(a) (b) (c} (d) 

(A) 4 1 3 2 

(B) 2 3 1 4 

(C) 3 2 4 1 

(D) 3 4 2 1 
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117. Match Listi with List II and select the correct answer using the codes given below the lists. 

Listi List II 

Livestock product Country 

(a) Beef 1. Denmark 

(b) Pork 2. Argentina 

(c) Butter 3. Australia 

(d) Wool 4. China 

(a) (b) (c) (d) 

(A) 3 2 1 4 

cM 2 4 1 3 

(C) 4 3 2 1· 

(D) 1 4 3 2 
' 

lffillUITQI Gli!Q>Lt61Q)Ql,t. ~iflQj QlflLia;. 

UGllf.lUEill ULllf.lUQJ II 

a;rrQip;..,L Qurr®Lir;Qr p;rr@ 

(a) LDITLllf.""!!>6§1 1. · Qu.imnrrrr5 

(b) um~ ~..,!D6§1 2. ,.!)llTQ!Jc!Arllf.QllT 

{c) QQ,.mQ...,.iU 3. ~ooi!;)C1TaSl1Urr 

(d) a;tbu..!l 4. krrr 

(a) (b) (c) (d) 

(A) 3 2 1 4 

(B) 2 4 1 3 

(C) . 4 3 2 1 

(D) 1 4 3 2 
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118. In the Provincial Towns such as Chennai, Mumbai, Calcutta and Delhi, which of the 
following is fixing the valu.e of the cases in the courts of small cau~es from time to time. 

(A) 

(B) 

~ 

The Provincial Town Authorities 

The District Collector 

The High Court 

The State Government 

LDITIDIT...,. )f>IDl,fri.J!liQTITQT Q/fQrQlQT, ullUITuJ, B;Ql~IT LDW!lJltD ~Qig\}uSJQi ~QlLD)i;i!iJGr'1T 6J!l)I QJ\j!.$@) 

UJLD.UJDri.Ja;QflQi aJlj!8Jil"'1 LD~LiLJii; Gj!ilTQllDQlUJ ~QiaJuC:urri!il )blir...,.uSJuu~ . 

(A) LDITIDIT...,. ]DIDl,f 461l...,.UJri.Ja;m 

(B) LDITQJLL ~L6JUJir 
• 

(C) fLUJIT Jt~LDoiJJDtD 

(D) lDITJb!Ql ~{f lflTri.JIDtD 

119. Supreme Court of India is considered as possessing larger powers than the Supreme Court 
of USA. Why? 

(A) Indian Supreme Court is not only a Federal Court and the guardian ·of the 
constitution and as well as highest court of appeal 

(B) American Supreme Court is not having power to entertain appeals from tribunals 

(C) Supreme Court of India has advisory Jurisdiction which the American Supreme 
Court is not having such power 

(ff/" · Be ca use of all the above 

.@)i;~UJ Liflf Jt~LD.UJDtb, ~QLDITIM Liflf )t~LD"'1JDii;Oll!O 661L ~~a; ~~a;rrr,rtb. Gu!i>!lJI ~1»\JlaJj!i1T1».$ 

ID('9j!iULI@ililJDi!iJ· "JoiJ? 

(A) .@)i;~UJ L6H)t~LD"'1JDtb lli>.LLrrL.61 )t~LDoiJJDLDITID ~ID\JlaJGiorr@ LDL@LD"'1!!51, ~r,r61UJQJQlLDLILJ 

IDITQJQJQTITIDQjtD fLiflf GLDGil QjlOllfDuSL.@ LD"'1JDLDITID6ljtD ~ID\JlililJDi!iJ 

(B) ~QLDITIM fLiflfUJLD.UJDtb ~irLIUITUJri.Ja;Qfloii GLDGil QjlQlJDuSLQlL ~lflTITIM _@UJQJIT~ 

(C) .@)i;~UJ LiflfUJLD"'1JDtb 4GQJ1TIKl>60T lli>.!!Jltb ~~a;rrr,rtb Gu!i>!l)lm'1Ti§J. 4QT1TQi ~QLDITl.$a; 

1t..iflf~LD"'1fDtb ~ruQJ~a;rrr,rtb Gu!i>!!51®8;a;66]Q)QJQ) 

(D) GLD!i>a;Qm_ «TQJQ)IT IDITl)"...,.ri.JID~ITQjtD 
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120. The conjugate base of NH; is 

(B) NH,OH 

(C) (D) N2H4 

(A) (B) NH40H 

(C) (D) N 2H 4 

12L The isomer of BHC which has insecticidal property is 

(A) a - isomer 

(~-isomer 

(A) ~QJUIT LDITW!!J56ir 

(C) 51TLDIT LDITWUJ56ir 

122. Galena is 

(A) An oxide ore 

(C) A halide ore 

(A) Sl®'~lf@ ji;IT~aJrr®i.O . 

(C) Sl® C:jil!!J61lQJ@ ji;IT~QllT®Li> 

(B) p - isomer 

(D) . t5 - isomer 

(B) OLLIT LDITWUJ51ir ' 

~sulphide ore 

(D) A carbonate ore 

39 
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123. A bullet of mass 150 gm strikes a target at 600 mis velocity. Which is reduced to 150 mis. 
The loss of energy is / . 

(A) 3000 J OJ{ 8437 J 

(C) · 184QO J (D) 5400 J 

150 .tii:rrrL.O .ffil""ID Q8irrmL ®m@ iil® .ffil..,ru..,tu 600 iD/Q,, ...-mm :$)..,/fCQJwru i!>IT.;;@i5l!D~· .!9fi!im 

~Q)~QJ8iL.O 150 iD/Q,, 48i @iQlw5i!D~ ...-Qflru C:LDrrp;rurrru <ir!DuL.L ~!J)QJ @wu4 £w~LQJ!DIJ.llfil 

...-~? 

(A) 3000J 

(C) 18400J 

(B) 8437 J 

(D) 5400J 

124. In the following cross between parents, a child with B blood group is not possible why? 

A A 

B GiLliJ 
b .GLGJ 

(/ Because one parent is A homozygous dominant to the other is. B heterozygous. 
Children with recessive b will become A because A is dominant; If the parent with A 
blood group is heterozygous dominant, then only child with 'B' blood group is possible 

(B) Because parent with blood group 'B' is heterozygous 

(C) Because parent with blood group 'AB' is homozygous 

(D) Because parent with blood group 'B' is homozygous 

£w.$8.irr~L.O Qu!DC:wmr8i~Mrr'"' @gi-u4 .!9!LLQJ--6lru 'B' @i:ri>i!i QJQl8iQltu.$ Q8irrm@liirm 

®WliiQ)~ QJrrlJJu4@ruQlQJ. lirm '"'"' Eiilm.$@). 

A A 

B GiiffeJ 
bGLGJ 

(A) ijl(!liQJlflm 'N @i:ri>l!i QJQ)8i ijiC:i:r QJQ)<$ ~m8iQlm.$ Q8irrm@liirm~. ~lflm 'B' @i:ri>i!i QJQ)<$ ~ 

LDrrlJ.llul...L ~8iQlm.$ Q8irrm@liirm~. ~ffil5itu 'b' @1JH> QJQl8iQltuu Qu(!lilh ®11!.liiQ)l!i 
'A' ~wrrru 'A' @1Ji>i!i Q\Q)<$Q)UJLI QulJ.ll5l"'w~. 'if @i:ri>i!i QJQ)a;Q)tu.$ Q8irr61i6TL QuJiJC:wmr 
lDfflJ,llLILL tl!m~m.$'K Q8irr~)i;$!irrW LDL.@C:m 'B' QJQ)U; ®11!.liiQ)l!i ~rr~Ui 

(B) Qi.J!DC:wrrlflm'B' @IJH QJQ)8i LDITIJ.llLILL !§m8>Qlm.$ Q8irrm@mm~ 

(C) QuJiJC:wrrlflm 'AB' @IJH QJQ)8i ijiC:iJ LDrr:$Jlflturr'"1 mm8iQ)QT.$ Q8irrm@mm~ 

(D) QuJiJC:wmflat 'B' @IJH QJQ)<$ ijiC:i;r LDrr:$JlfttufTQT mm1"1lQT.$ Q8irrm@mm~ 
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125. The value of 
l 

is 
2 

3+--
1 

2+-
2 

(A/"1~ (B) 
19 
5 

(C) 
4 

(D) 
5 

5 4 

1 
-Qi LO~uy i;rQI"'? 

2 
3+--

2+l 
2 

(A) 
5 

(B) 
19 -

19 5 

(C) 
4 

(D) 
5 

5 4 

12G. lfthe angles ofa triangle are in the ratio 1: 3: 5. Then the angles are 

(A) 20°, 100°, 60° 

~ 20°, G0°, 100° 

(C) ao·. Go·. 90° 

(D) G0°, ao•, 90• 

~® ~Cs;ir-UJar Cs;irElll!lfilm 1 : 3 : 5 i;r6il!D · 66llil~ai ~..,."'"' i;rQflQi ~5C51rQllT!fu5all&1 

~uya;er @"'!DCILI · 

(A) 20°, 100°, 60° 

(B) 20°, G0°, 100° 

(C) ao•. 60°, 90• 

(D) so·. ao•, 90• 

41 
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127. If x = y = 3: 4, find (4x + 5y) = 5x - 2y 

(A) 
31 <nf 32 (C) 

33 
(D) 

7 
-
7 7 7 32 

x = y = 3: 4 6r6ef1Qi (4x + 5y) = 5x - 2ymUJ5a;rrooa;. 

(A) 
31 

(B) 
32 (C) 33 

(D) 
7 

7 7 '7 32 

128. A and B can together finish a work in 30 days. They worked at it for 20 days and then B left. 
The remaining work was done by A alone in 20 more days. A alone can finish the work in 

(A) 48 days · (B) 50 days 

(C) 54 days M 60 days 

A--u..iU:i B--u..iw <:6irJi;~ @<!!i CaJrorumUJ 30 p;rrl...a;QflQi <!P~ (!jliq.14Ui . .@(!!iaJ(!!iUl ~Ji;p; CairoruroUJ 
20 p;rruar <:6iTJi;~ Qlfli.J~. i5l!!l<!!i B 4EilaJiT CaJmru5(!5 aJfJEii!Qiroru. A LDl...@U> iDp;(!Jl9rm ~Ji;fb 
CairorumUJ 20 p;rrl...a;ar Qlfli.J~ <!P"l-HrriT 6r6ef1Qi A LDL...@U> (!jl@aJ§JlD ~Ji;p; CaJroruroUJ Qlfli.JUJ 6r{5fDroEil 
p;rrl...a;ar ~ID? 

(A) 48 p;rrl...a;ar 

(C) · 54 p;rrl...a;ar 

(B) 50 p;rrL.a;ar 

(D) 60 p;rrl...a;ar 

129. If the side of a square is increased by 5 cm, then the area increases by 165 sq.cm. The side of 
the square is 

(A) 13 cm ~4 cm 

(C) 33 cm (D) 12cm 

@(!!i <'f§!IJi>~<ior uii;~Qi f,m~ID 5 Qlf.tD. ~~a;ill5(!!iU> Curr~ ~~ LIIJLI4 165 lf.Qlf.tD. ~~a;ill.$51!!>~ 
61"..i!Qi, ~Ji;p; lf§llJ~ar u~6ir ff,m!D. 

(A) 13 Qlf.t0. (B) 14 Qlf.w. 

(C) 33 Q ... iD. (D) 12 Qlf.tD. 

130. What will be 60% of a number whose 300% is 120? 

(A) 12 W24 (C) 36 (D) 48 

il<!!i 6rooQll\l6ir 300% 4Eili!il 12-0 61"..i!Qi, ~QiQQJooQll\lar 60% a;rrooa;. 

(A) 12 (B) 24 . (C) 36 (D) 48 
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131. Indian Rupee symbol as·~· was designed in 2010 by 

(~D. Udaya Kumar · (B) D. Arun Kumar 

132. 

(C) D. Udaya Sankar (D) D. Vijaya Kumar 

(A) . iq.. :yilU ®torriT 

(C) iq.. f4i1U 1Frt.Ja;IT 

Which South Asian Country 
well-being of its citizens? 

(A) Bangladesh 

(C) Sri Lanka 

has adopted 

(B) lq.. ~(!!jQrr ®LDrrif 

(D) iq.. Glil~1LJ®L01TiT 

Gross National Happiness 

~Ii.utan 
(D) · Myanmar 

as an index of 

or)i;p; Qp;Qr ~IUIT /lilT@ QLOITH ~ILJ toilill9661 ®JbltDLQlL L05aia!lm ~Q)Qll ®JD15ai LJILJQrLJ@~IU~? 

(A) QJrt.Ja;rr61T ~ (B) !J.LLlfm 

(C) ~Q)ri.Ja;rr (@Q)ruQla;) (D) ullllJITQrlOITW 

133. Fill in the blanks : 

In 2008, India had the world's -----largest fishing industry. 

(A) . Tenth (B) Eighth 

(C) Fifth ~Third 

C:...rriq.L.L @Lp;Qlp; i@vu4a; : 

2008 4t.D 4'*riq.Qi @~1UrrGlilm t.&ir QJ61Tp;Q!!ilf\PIID r>...Q)ifilQi-----@~!liu QuJi>!Dl!)I· 

(A) up;!lirrQJ~ (B) Ol°LLITQJ~ 

(C) tB/iii!ilTQJ~ (D) (ylQrJDITQJ~ 

134. After.the ~ecline of Satavahanas, who emerged as important political power in South India 

(A) The Abhiras (B) The Trikutakas 

(C) The Ikshavakus (DYThe Pailavas 

Qp;mG!ll)i;~IUrrGlilai lflT!li6>lrr'"""ir ... a11m 66~5®Li ~m torrQu<!!it.D ~v811Uai ~ILJrr,. f>...(!!iQQJ@H 
. QJLDlflTQJa!I 

(A) ~~vrrau 

(C) j}5~6>JIT® 

43 

. (B) ~ofllli>.LWa;Qr 

(D) uQiQJQJITa;ar 
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135. Consider the following statements and select your answers : 

Assertion (A) Jainism had niore influence than Buddhism on the life of the people in 
Tamilnadu. 

Reason (R) Jainism had mllch more in common with Hinduism than Buddhism. 

(.\}/' (A) and (R) are true but (R) is not correct explanation of (A) 
(B) (A) is true, but (R) is not true 
(C) (A) is not true, but (R) is true 
(D) (A) is true and (R) is correct explanation of (A) 

fbuSli,ps; ~.oi rurr~s;u5li;ii ~ QuarH ~lb miL lflDQllTUlfbib ..!91i!ils; 

ib"~fb ~Ji>u@~w®I· 

s;rrir-i.b (R) lflD- LDfbiil Qu~ LDHQlff>mlL @Mil LDmiL@ UQ) 81>.g)ls;QlaT. Qurr~rurrs; 

QuJi>!lJISl"ar~. 

(A) (A) tn!i>!l)llil (R) @irar@Gto Ifill ~ ... rrru (R) ..-.oiu~ (A) ml!i>(!i 6illwrr ... 6lilar5s;toroQ) 

(B) (A) 6ill ~ ... rrru (R) 6illwrr61lff>WQ) 

(C) (A) 6illtLJrr61f~Q) 4611rrm (R) 6illwrr'"'~ 

(D) (A) 6illwrr ... ~ ~611rrro (R) (A) 6li!Ji>® B'illwrr ... mlarii;s;lil 

136. Consider the following statements and select your answers : 

Assertion (A) The age of consent bill was a remarkable achievement of Behramji 
Malabari. 

Reason (R) The Bill created.an indisS!>luble bond between social reform and national 
movement. 

(A) /' (A) and (R) aretrue, but (R) is. not ·correct expl;mation of (A) 
~ (A) and (R) are true and (R) is correct explanation of (A) 
( C) (A) is true but (R) is not true 
(D) (A) is not true but (R) is true 

s;mr-lil (R) @~ to<::8'rrfbrr 6(1J>lbrTtLJ liri!i!~!i>®lil. ~w @w~Ji>®lil i.5li\l5s; @lq.WrTfb 
@Ql-uQlu 2-(J]iaJrr.$.$lw~. 

(A) (A) tn!i>!l)l lil (R) @irar@.Gto 6ill. (R) (A) 6li!Ji>s;rr611 B'illwrr ... 6lilm5s;ib ..!91ruro 
(B) (A) tn!i>!l)lt.ii (R) @irm@Gto B'ill, (R) (A) 6lilfbs;rr ... 6illwrr611 6lilar5s;ib 

(C) . (A) 6ill, (R) fbaJ!l)I 

(D) (A) fbru~. (R) B'ill. 
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137. Match List I with List II and select the correct answer : 

List I List II 

{a) Warren Hastings L Treaty of Mangalore 

{b) Sir John Shore 2. Hafiz Rehmat Khan 

(c) Dost Muhammad 3. . Policy of Non-interventio·n 

{d) Lord Macartnay 4. Lord Auckland 

'· Codes: 

(a) (b) (c) (d) 

w2 3 4 1 

{B) 1 2 3 4 

{C) 3 4 1 2 

{D) 4 1 2 3 

uLiq.1Uro I uLiq.1Uro II 

{a) QJl1VQJ ~Qu~Qu 1. lDffil~rT·ILL6iJu"1-.9;Ql1& 

{b) lfrr airr6il ~rrri" 2. !ii!!lltSEil> l)"!&lD~ !&lfQr 

{c) ~rrwit @1&.lDl!il 3. lfi'l>Q)u5lLrr Qs;rrarQl!& 

{d) Qtnsrrri"L..Cm i.5l1J4 4. ~ii«L.. i.511J4 

®Jlilid@: 

(a) (b) (c) (d) 

(A) 2 3 4 1 

. {B) 1 2 ·3 4 

(C) 3 4 1 2 

{D) 4 1 2 3 
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138. Auditing the Governm.ental expenditure is vested with the 

I. The Finance M"mister 

II. The. Prime Minister 

III. The Finance Secretary 

IV. Comptroller and Auditor General 

(A) I only ~I only 
(C) II and III only IV only 

I. Jfilp;l ~61l!Dffir 
II. t.%Jp;LD tn)i;~h\I 

III. Jfilp;l Q<!fUJQJir 

IV. p;61>QJ61>LD ~W>a; a;L..@uurrL..@ ~~a;mll 

(A) I tnL..@tb (B) II tnL..@tb 

(C) II tn!i>~tb III tnL..@tb (D) IV tnL..@tb 

139. Find out the pair of wrongly m~tched water dispute tribunals. 

I. Krishna water Maharashtra, Karnataka and Andhra Pradesh 

II. Narmatha water Rajasthan, Gujarat, Maharashtra and Madhya Pradesh 

III. Kavery water Karnataka, Kerala, Goa and Tamil Nadu 

IV. Ravi and Beas water - Punjab and Haryana 

(A) /f only 

(oY IIIonly 

(B) II andIV 

(D) IV only 

~!Drra; ®iDILio51LuuL..@m'1T J!i~J!lirLI o511J6-i"' ~irLiurrUJtb tn!Dg,tb J!iiJ;la;eflar @61>Qllf61>11J5 ,..;.,-@151"1-. 

I. ilil(!li~QllflT )!iir LDjillDITIJIT~llj-IJIT, 5IT)!ilTL5tD, ~~l)"uo5Jl)"C~tb 

II. )!iITLD!f;IT )!lir lJIT3!Qu!f;ITQr, ®3!1J"~· LDjil!!JITIJIT~llj-IJIT, LD~UJo51~1ftD 

III. · a;nGruill )!lir a;irJ!irrL5tb, C:..lf'1Trr, <:i.rram, p;Lhl!ollp;rr@ 

IV. 1Jrrml tn!i>~tll o5111Jrr9u )!lir - uf@jlfrrt.J, jil(Dif11UrrG11rr 

(A) I tnL..@tb 

(C) III tnL..@tb 

GTPA/13 46 
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140. The ethics committee was constituted in Lok Sabha in the year 

(A) 

(C) 

1998 

2002 

(A) 1998 

(C) 2002 

·~000 

(D) 2004 

(B) 2000 

(D) 2004 

141. Which of the following statements about National Development Council is/are wrong? 

L National Development Council was set up in 1952 

II. National Development Council is concerned with social and economic policy 

ID. It is a key institution in Centre-State relations 

N. It consists of.principal secretaries of all the ministries 

(A) I 

(C) II and III 

(A) I 

(C) II to!iJ!!Jltb III 

47 

(B) I and II 

~ 

(B) I w!iJ!!Jltb II 

(D) N 
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142. Match the List I with List II and select the correct answer using the codes given below the 
List:. 

{a) MGNREGA 1. To upgrade housing for BPL, SC/ST 

(b) SGSY 2. For benefit of rural women 

(c) IAY 3. Guaranteed wage employments for atleast 100 days 

(d) IMY 4. For improving the family income of rural poor 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 2 4 1 

(~3 4 1 2 

(D) 3 1 2 4 

QJi\lQJlf I ILL~ QJi\lQJlf IIuSlQlmu Qurr®MJ QJi\lQJIR&~ £~ Qa;rr@!i;s;uuL.@9rar Qii;rr®Lit5lrol(!!i)i;~ 

lfillUJrrm QilQJLa;QJQT Ql!iillQJ QlfliJ8i : 

(b) '1"W.~.'1"W.ijl!U. 

(c) tll·'l·@IU 

(!i.) m,"tb.siiU 

(a) (b) 

(A) 1 2 

(B) 3 2 

(C) 3 4 

(D) 3 1 

GTPN13 

(c) 

3 

4 

l 

2 

l. QJgJQJLD G8irrL."l-Ji>® £w ILSrQTQJW8iQr, '1"W.5i/'1"W."l­

t5li!lQil611iT5(15 fill@ a;L."1- Qa;rr@~ 

2. 

3. 

4. 

(d) 

4 

1 

2 

4 
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143. 2 MW, in,pile loop reactor installed for nuclear fuel studies is 

I. Dhruva 

n. Apsara 

III. . Cirus 

IV. Ka mini 

c/I (B) JI 

(C) III (D) IV 

.!II@! 4)il!D9J !fff~ 6fi11Qurr(!!ilir 4.U66lfi>a;rra;, 1>-uCturr.tla;a;uu@Li:> 2 MW (!)661 QJmanulilMmrll> 

@m- 'Jjb~IU .!11@14fi>!D9J !fffrr~ 4.UQ.16' a;rrQl .!llQlLDQI "'~? 

I. ~(!!iQJlr 

II. .!llU61fllrr 

Ill. 5lil\11JQu 

IV. a;rruSl61il 

(A) I (B) II 

(C) III (D) IV 

144. The.billionaire author of the series of the famous Harry Potter is 

.(/ J.K Rowling (B) Enid Blyton 

· (C) Nancy Drew (D) Jane Austen 

(A) J.K Q11'1TeS!lil 

(C) )6rrEiT5l L..(!!j 

49 

(B) 6r61i!L.. umQTL..uir 

(D) ~ 49uk).EiT 
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145. VVhatis'IGnecf? 

I. Depth camera systems 

IL Projector 

III. Remote control for T;V. 

IV. Message boards 

(/I only 

(C) III only 

l. LSrQTLliJ5Jtu ~!,PJDUL.5 "<!!)'6] Qp61l!D5Sr 

II. 51Qfl 6TJ6IQJ5 5®'6J ~mwu4 

(B) I and II only 

(D) IV only 

III. Qp;rrmQ>.$5m:..81Qp;rrmQl~'l5L@urrL...@ 5(!!)'61 

IV. p;!!iQJW UQ)Ql!1i5Qr 

(A) I wL...@tb 

(C) III wL...@tb 

(B) I wJi>l!)tb II wL...@tb 

(D) IV wL...@tb 

146. Cancer immunologist James Allison ill mainly associated with 

I. CTLA-4 

IL CARE 

III. PD-1 

IV. Erased tumours in mice 

(A) I only 

(C) II only 

I. ' CTLA-4 

II. CARE 

III. PD-1 

IV. ~u61u5l§lllirar 5!,PQlQ)Qltu .£MIQTrrir. · 

(.(\.) I wL...@tb 

(C) II wL...@tb 

GTPA/13 
.. .,..· 

50 
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~II and IV only 
and IV only 

(B) III wJi>jptb IV wL...@tb 

(D) I wJi>!Ptb IV wL...@tb 
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147. 193rd member.of United Nations Organisation was · 

<W South Sudan (B) Zambia 

(C) Turkmenistan (D) Somalia 

reM"hu p;rrL@lfQluuSlEii 1936.J~ :!...!l)IUt51611rr p;rr@ 

(A) G15!i>@i @!>LITQr 

(C) ~rrB;uSlQfll>iu~rrQi 

(B) airri.Ot511Urr 

(D) C6rrtorr'6l1UIT 

148. Ms. Universe of2013 belongs to·which country? 

(A/' Venezueula . (B) Colambia 

(C) Canada (D) Zambia 

2013EiT t5liru<§6 ~19.$1 ~~ p;rrLmL <:.mJi;!6'Urr? 

(A) QruQfl_,rr (B) Q5rr9li.0Ci11Urr 

(C) 5QILIT (D) !i!rrLDCillUIT 

149. Who won the World Chess Championship 2013 held at Chennai? 

(A) Kasparov <Bf' Magnus Carlsen 

(C) Topalov (D) Gata Kamsk.y 

(A) 51>iuuirru 

(C} CLrrurrCwrrru 

(B) C~w 5rrrr9>.ffir 

(D) 5Lrr C5ww.$l 

150. Raman Magsaysay Award 2013 winner Habiba Sarabai belongs to which country? 

(A( Afghanistan · (B) Japan 

(C) China (D) Pakistan 

(A) ~u5rrQ\19u~rrEiT. 

(C) krrr 

51 

(B) aiuurrEii 

(D) urr.$lw~rrEii 

. -• 
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151. · Find ~74+~44+J22+~5+.Ji6 
(A) 5 

(C) 6 

~74 + ~44 + J22 + ~5 + .Ji6 -1'1!8; a;rrEllira; 

(A) 5 

(C) 6 

(B) 7 

@/9 

(B) 7 

(D) 9 

152. A certain sum of money lent out at simple interest amounts to Rs. 690 m 3 years and 
Rs. 750 in 5 years. The sum lent is 

(A) Rs. 400 

{C) Rs. 500 

(B) _}{a· 450 

(iY{ Rs. 600 

B'1Tj!i1Tfl"'6T QJL~ Qa;rr@5aiuuL.L ~® Qj!irrQla;UJrrQI~ eiParl!J 4Ellir@a;QflQ:i ®· 690 ~~tb ~ 
4Ellir@a;aflru ®· 750 ~tb ~ir.ul ~mua!l>~ '""6Bll9> ~/iii!i Qi!irrma; 

(A) ®· 400 

(C) ®· 500 

(B) ®·450 

{D) ®.600 

153. For any two natural numbers p and q we define~the operators A, v as follows 

then the value of (5 v 2) "25 is 

(A) -184 

<cY' 1066 

(B) -525 

(D) 46 

p, q '""6sr!!>@®@u.i9> '""""'a;~ "· v '1°6sr!l> QB'UJaSlm i.SlmQJ@IDITllJ Ql'l>flUJl!J5aiuu@£!!>~ 

pAq=p•+q•; pvq=p•-q• 

'1"6Bllru (5 v 2) "25 -m ~ul.j 

(A). -184 

(C) 1066 

GTPA/13 52 
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154. The next figure in the following series 

(A) I E *I I 
031EEJ 

(C) ITI 
(D) None of these 

(A) ff] 
03) EE] 

(C) ffi 
(D) <;r~uSlQ)Q>Q) 

1±J [E 

53 

[±] LJ 
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15p. Find the missing number. 

(A) 4 

(C) 2 

(A) 4 

(C) 2 

(B) 3 

(B( 1 

(B) 3 

(D) 1 

156. Find the missing number in the following diagram. 

20 9 16 9 

140 128 

10 5 8 

(A) 82 
:196 

(C) 72 84 

i!iloirrru(!;lil UL~"'ifi5 Qa;rreior@ 6/il@uL_L Ll!JLI"'Li a;rrQiora;. 

20 9 16 9 

14Q 128 

10 5 8 

(A) 82 (B) 96 

(C) 72 (D) 84 

GTPAl13 54 . . 
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157. 92 x18' 
is The value of 16 3 

(A) 
2 

(B) 
4 

3 9 

<ef 16 
(D) 

32 

81 243 

92 x18' 
-Qi 1D~u4 '"6irEll? 316 

(A) 
2 

(B) 
4 - -

3 9 

(C) 
16 

(D) 
32 

81 243 

158.. Consider the following statements : 

Assertion (A) : Under British rule in Zamindari system, landlords charged heavy rents 
from tenants.· 

Reason (R) : Under Zamindari system population grew, villages decayed and demand for 
lands also grew. 

('NJ'" Both (A) and (R) are correct and (R) is correct explanation of (A) . 

(B) Both (A) and (R) are correct and (R) is not correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

&Ji>p (A) : i5lif1Ut-~ 4UluSlm £19 8jull6ir~rrifl <!P"'!!>u5l9> jblro i5lv4sliir @i~ITl)"ifluDl®~ 

~~" ®~" aJ®'61Hmt.sliir . 

.srr11Slmb (R) : C:tDJi>u"I- 4UluSJQi 8jullm~rrifl (!PQ'i!!>uSl9> tD.ML.Q~rr- Qu~Lil. ilill)"ITtDffila;aftQi 
~wiQjLD 'IJ"Ji>ULL~ITQJ, Qi1Qlsr)blroffila;afl6ir ~QJ Qu(!!j&llUl!jl. 

(A) &!i>p (A)-1L1Lil 5ITl)"QllfLD (R)-Lil @11m@Lil iMl C:tDS!JLD (R) Q"QJUl!jl (A)-66l!i>@i B'if!IUITQI 66lm55Lil 

(B) Bii.Ji>p (A)-1L1Lil a;rr17Slmb (R) @vm@ lDL@Lil iMl 4QllT9J•(R) Q"QJUl!jl (A)-661!i>@i iMllUITQI Qilm.MLil 
~QJQ) 

(C) &Ji>p (A) tDl..@Lil B'ifl .srrvsmh (R) lDl..@Lil ~p 

(D) &!i>p (A) tDl..@Lil ~p . .SITl)"QllfLD (R) tDl..@Lil iMl 

55 . GTPA/13 
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159. De~graphic dividend refers to 

(N[ a greater proportion of population in the working age group of 15 - 64 

(B) a higher percentage share of dependents to working age population 

(C) getting more employment opportunities for the youth 

(D) a stable and balanced population 

tn.$a;Sr Qf>rrgia;@Q>rru FFQj ori;ir!l> 5(!!)~ QQJQf\uu@~aJ~ 

(A) ~~a; "615lf> ~ar"61Qi <:aJgiQ) urrir~Lil QJUJ~Q>rrmaJira;m . (15 ~ 64 QJQll)"uS19>) 

lDMQrQf>rrgia;uS]Qi a;rrQllTuu@QJ~ 

(B) lffTirji;~(!!iLiC:umfl.ir iffDdif>Lil <:aJgiQ) urrir~Lil QJUJ~QJIT61T LO.$a;Qlar "6lt.._ ~~a;tnrra; a;rrQllTUU@QJ~ 

(C) @QlSTUJ QJUJ~QJIT61TQJ~ ~~a; <:aJgiQ) QJITlLIU4 i£)git.._uu~ 

(D) ~QlQ)UJrrm 6lllil'll)"rrm tn.$a;Qlar.$ Qa;rranq.<!J)Liu~ 

160. The A, B, 0 blood grouping was first discovered by 

·· <V Landsteiner arid Levine 

(B) Muller H.J. 

(C). Morgan 

(D) Weiner 

A, B, 0 @llH QJQ)a;a;QJQT <!Pf>i;ir<!Pf>GS!ro 1"ilr@i.Sl~iT 

161. 

(A) QQ>QrL.Q\Jgit.._mrr tnfi>l!Jib QQ>"61i;ir 

(B) QPIDQ)rr H.J. 

(C) tnfrira;i;ir 

(D) QQJuSli;ir61Tri" 

One·~ the main sources of vitamin 'C' is 

<AY" Citrus fruits (lemon) 

(C) Banana 

(A) or!ilJLDl6">8' 

(C) QJITQlljlUUljlLD 
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162. Arrange the following stages of meiosis-I in ~rrect sequence. 

I. Pachytene 
II. Zygotene 
Ill. ,Leptotene · 
IV. Diplotene 

<Af III, II, I, IV (B) II, I, IV, III 
(C) IV, I, III, II (D) I, II, IV, Ill 

I. Gu..tliaoir 

II. @~llifT!aQr . 

III. QQJuGLme.m 

IV. "1-uGmrriam 

(A) III, II, I, IV (B) II, I, IV, III 
(C) IV, I, III, II (D) I, II, IV, III 

163. Match the items in List I with List II and select the correct answer : 

List I List II 

(a) Adenine 1. Uracil 
(b) Thymine 2. ·Sugar 
(c) Ribo'se 3. Pyrimidine 
(d) RNA 4. Purine 

(a) (b) (c) (d) ---
(A) 3 4 2 1 

~ 3 1 4 

( 4 3 2 1 
(D) 4 3 1 2 

rurrlro!F 1-ILLOO ruiflro!F Il-roEl!U Gurr(!')~ ruiflro!Fa;(51ii(§lii £19 Qa;rr@li;s;LiuL.@9rm Gp;rr(§Li~'°1(!'))i>§ji 
!FrrllUITEll 661QJLQJIU!i; Gp;iflQ1 G!F.Ulli : 

rurrlQl!Fl ruiflQl!F II 

(a) ~"1-QlEllQr 1. lllG1Jfilro 

(b) Qlp;t.6100 2. !Fli'ii;a;rolJ 

(c) Ql !)'Gu IT Qu 3; t.S1 ifl t.611<j'.m 

(d) ~rr.orOO.COJ. 4. .:i\Y.rrim 

(a) (b) (c) (d) 

(A) 3 4 2 1 
(B) 2 3 1 4 

(C) 4 3 2 1 

(D) 4 3 1 2 
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164. The L.C.M, of .23 oc,3,2 .x5x11, 24 x·34 x52 x7, 25 x 33 x 58 x72 ·x11· " 

(A) 25 x 3' x 53 ·~ ~5 x 34 x 53 x 72 x 11 . 

(A) 25 x 34 x 53 

(C) 23 x 32 x 5 x 7x11 

165. The next number 3, 9, 27, ---

(A) 45 

(C) 72 

(A) 45 

(C) 72· 

(D) 2x3x5xllx7 · 

(B) 25 x 3• x 53 x 72 x 11 

(D) 2x3x5xllx7 

(B) 61 

car 81 

(B) 61 

(D) 81 

166. If the C.I. on a certain sum for 3 years at 10% per annum be Rs. 331. What would be the 

simple interest? 

(A) Rs. 3,000 

(C). Rs. 30 

~Rs.300 
(D) Rs. 30,000 

~® G1&rrQl~ 3 ~•@a.sflro .10% QJLJq. f>Bmro £Ql~t.0 Bhl...@ QJLJq. C!!i· 331 '"lilflro ~~ 

GjDITQl~ ~~ 51TQ)~JD@i ~~ QJLlq. f>Bmro £QlU@itb ~QJLlq. 61"6iJQJQTQj? 

(A) (!!), 3,000 

(C) C!!i· 30 
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167. Find out the incorr~t statements among the following with'11igard 'to Rajaji. 
1. Established Gandhi Ashram in Pudupalayam. 
2. Started Salt Satyagraha in Tamil Nadu. 
3. Home Minister in the Interim Government. 
4. Industrial Minister in the Free India. 

(A) · land4 

(C) 2 and 4 

(B) 2 and 3 
{D(' 3 and4. 

l)'IT1JillT~ ®JDlH £~8-ilrL a;®HJa;aftQi p;ru!DITQllQlQJa;Q>m Qp;illaj QB'tll. 
1. IJ'rr!"llrr~ y~uurrQlilTU..J~ru a;lljbpjl ~IJ'ID ~Ql~rrrr. 
2. ~t.6119a;~ru Luy ~1Urr!lill)'a;ID 41)'1Di.Sl~rrrr. 
3. _@giui;s;rrQ) ~1)'6lru R-m~Ql!D ~Q)LD.Hir. 

4. ~ib:®'l .@)bpjl1Urr66lru Gp;rrWJru ~Q)!D ~QlLD.Hrr. 

(A) 1 LDJDg)llD 4 (B) 2 LDJD!l)llD 3 

(C) 2 LDJD!l)llD 4 (D) 3 LDJDlJ)llD 4 

168. Match List I with List II select correct answer. 

List I List II 

(a) Lord Minto 1. Revolutionary 

(b) KR.Gama 2. Divide and Rule 

(c) Abdul Kalam Azad 3.' Home Rule League 

(d) Common Wheel 4. IOrilafatMovement 

,/(a) (b) (c) (d) 
( 2 1 4 3 
(B) 4 3 1 2 
(C) 3 4 2 1 
(D) 3 2 1 4 

ULl<f.IUQJI ULl!j.IUQJ II 

(a) t.61EiICLrr i.Sll)'y 1. ~Eiill)'rurrpjl 

(b) aa,, ~ir. B;rrLDIT 2. i.Slill~rr~ID Qa;rrmgia; 

(c) ~UiljlQJ a;Q>rrtD 461T~ 3. p;mQlllTL6\ a;19a;ID 

(d) Qu rr~p;Q)Qi 4. !lilQ>rrurr:i; fil1UslD 

(a) (b) (c) (d) 
(A) 2 1 4 ·3 
(B) 4 .3 1 2 
(C) 3 4 2 1 
(D) 3 2 1 4 
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169. ·Find out.the wrong statement among the following. 

1. Bhatathi acclaimed Gandhi.all. Mahatma even before Tagor~ in 1910. 

2. He burnt.foreign cloths at Madras Coast in 1906. 

3. He was exiled to Pondicherry from 1908 to 1918. 

4. Sub-editor of Swadesamitran in 1904. 

(A) 1and2 

(B) 2.and 4 

(~·a·only. 

(D) 1and4 

3. 1908-1918 QJQll)" urrsiar~ill5@ip;rr@a>LHLILILt...rrrr. 

(A) 1 LOJi>!l)ltb 2 

(C) 3 LOL@tb 

(D) 1 l.OJD!l)ltD 4 
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170. Consider the given Fig. of Seas of North West Europe~ Match·l.ist I with List II alia select 
the correct answer_ using the code given below list. · · 

Listi List II 
Sea number Sea name 

(a) I 1. Baltic Sea 
(b) II 2. Norwegian Sea 
(c) III 3. North Sea 
(d) IV 4. Irish Sea 

(a) (b) (c) (d) 
(A) 3 1 4 2 
CW4 1 2 3 
(Cy 2 4 3 1 
(D) 1 3 2 4 

Q5rr@MLiuL.@mm QJL<:tDJi>® reC:l)"ITU~llJ 5LQJlliQ!QT u~15 ~Qi G51TQr5. QJillQllf Im QJi!lQllf 
II :LLW Gurr~ lfi!l1Urrar ®d>ha@ Lmm u~"'a>~ ~li]i;~@5.!&. 

QJillQllf I QJillQllf II 
. 5LQJ '1"sirr 5LQJ Gu1Urr 

(a) I 1. urrQilq-5 5LQJ 
(b) II 2. p;rrrraru!li11Uw B;Lro 
(c) III 3. QJL.s;LQ) 

(d) IV 4. rei!lGi!j. 5LQl 
(a) (b) (c) (d) 

(A) 3 1 4 2 
(B) 4 1 2 3 
(C) 2 ·4 3 1 
(D) 1 3 2 4 
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171. Match List I with List II and select the correct answer using the codes gjvell bel.ow the lists,: . 

List I List II 

City Climate 

(a) Mana us ' 1. ' Mid latitude arid and semi arid 

(b) Valpariso 2. Rainy Tropic 
, 

/ (c) Chennai 3. Dry summer sub tropic 

(d) ' Denever 4. Wet and dry tropic 

(a) (b) (c) (d) 

~: 
4 I 2 

3 4 I 

(C) 4 2 I 3 

(D) 2 1 3 4 

lft!l1U1TQI '6Jj;1>Lu5JQ>QT)i; Ql&i\lQJ Q&tiJa;. 

QJi\lj;l)lf I 

j651Jlli 

(a) lOITQllTQu 1. 

(b) QJITQJLJj;l)IJ{:mT 2. FFIJ .s!IUQI 

(c) QIFQrj;l)QJ 3. 

(d) QLaftQJrr 4. 

(a) (b) (c) (d) 

(A) 3 4 I 2 

(B) 2 3 4 1 

(C) 4 2 1 3 

(D) 2 1 3 4 
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172. · Match the following: '''I• 

{a) Globigerina Ooze 1. Red clay 

{b) Neritic deposits 2. · · Calcarious 

{c) DiatamOoze 3. Sand 
. ~. ~ . ~ 

(d) Deep Sea deposits 4. Siliceous 
'·'' 

(a) (b) (c) (d) 

(A) 1 2 3 4 

~2 3 4 1 

(C) 1 3 4 2 

(D) 3 2 1 4 

£\jl5'iiarL6UlD61l!D Qurr~..,; : 

(a) (!5C:~Q!J;!iflQ11T ~ 1. 816Uu4 ..,;a\110'8r 

{b) Qp;ifl~ UfJi.Qj 2. ..,;rrQi(:..,;ifllU&u 

(c) 611LlUrrLLID <:iF!!J 3. IOQllrID 

(d) ~\jl5LIDU"!-Qj 4. 5lrol.+llUSu 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 3 4 1 

(C) 1 3 4 .2 

{D) 3 2 1 4 
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173. Which of the following is true? 

I. President· of India nominates 12 members to the Rajya Sabha. 

II. In United States there is no such nominated members to the Senate. 

(A) I is true · (B) II is true 

(C) I is true but II is wrong <DV'l and II are true 

. !!Jis;mu;u Ji>l!Jloir '"i!il mil? 

I. .@Ji;~tU ~QTIT~u~ LDITJblQJrfils;mQlru~ 12 JbltULDQT 12..l!JILit5l@rrs;"'m JbltULD@Li! G1T.U£!!J1Trr. 

II. ~QLDi\lii;s;1T6>Slru .@i!il Gu1TQi!!J JbltULDQT 12..l!Jll:nSl@rrs;oir QlfQTL.l<j.Qi JbltUt.9Jii;s;uu@ru~QimQJ. 

(A) I Ifill (B) II lfrrl' 

(C) I Ifill, ~oisrlTQi II ~rul!JI (D) I LDJi>l!Jltb II Ifill 

17 4. Consider the following statements. 

Assertion (A) The executive and the legislature of the Union shall have 
extraordinary powers during an Emergency. 

Reason (R) The Union.Executive has the power to give directions to a State only 
to matters specified in Art 256-257. 

(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A) 

cs(" Both (A) and (R) are individually true but (R) is not a correct explanation of (A) 

(C) (A) is true but {R) is false 

. (D) (A) is false but (R) is true 

s;IT~Qlilftb (R) 

Gp;(!!)M"l- Jbi"'QluSlm Gurr@i!il QlLntU )!jlrrru1Ts;Q!ltb lfLLLDm!!JQPli> ~Q\lB'Bl!!JuLJ 

~~s;IT~rfils;w Qs;ITm@ .@~Lil. 

6fil~ 256-257uSlQi U~ITQr Q)LDtU )!jlrrru1Ts;tb ~® LDIT)!j!Q)~!i>® B;LLQ)QT 

t5l !!JLI t5lii;s;QP"l-11.j Lb. 

(A) · (A) LDJi>l!Jltb (R) .@~m@GLD Ifill, GLD~tb (R) orQiui!il (A) 6>Sl!iJ® lfilltUITQT 6filmB;s;tb 

(B) (A) LDJi>l!)ltb (R) .@~m@tb Ifill, ~QTITQJ (R) OTQrUi!jl (A) 6>S1Ji>® lfilltUITQT 6>Slarii;s;LDQJQJ 

. (C) (A) Ifill ~QTITQJ (R) ~QJ!!)I 

(D) (A) ~QJ!!)I ~QTITQJ (R) Ifill 
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175. Oxidation state of Nickel in Nickel Tetracarbonyl (Ni(C0)4 ) is 

(A) +2 . · . . (:8('"0 

(C) +4 (D) +1 

(A} +2 

(C) +4 

(B) 0 

(D) +1 

176. The star seen closed to earth is 

(A} Sirius ~Alpha centauri 

(D) Luyten (C) Cygin 

!,J,uSlii;® ull<!i ~®llirrrotnuSlru l!irrQlllTuu@Lb 661.0...wQir 

(A) 6li!l1LJ9u (B) 4ru.".urr Qlf6ilrGumll 

(C) . gilf£Qir 

177. The)lcceleration due to gravity at the centre of the earth is. · 

{"N{ Equal to zero (B) Less than 9.8 mfs2 

(C) Equal to 9.8 m/s2 (D) Greater than 9.8 mfs2 

!,j,uSluSlQI Q>LDIUU u<!5i!iluSlru 4661 FFli"LILj (!Jl@~Qi tni!ilu4 

(A) s;WJ tni!ilu4~ B'LDtD (B) 9.8 t.0/6612-~ (!!)Ql!!)Qj 

178. Magnetic effect of current was discovered by 

(A) Faraday (B) Fleming 

(W Oersted (D) Ampere 

(A) :.uurrl){:L (B) :.t.Slmullifu 

(C) S11JQuLL (D) 4 tllt.S11Urr 
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.. 
·U 0 0 0 0 '() -0° o 0 0 o. 0 

179. - - ? 

0 0 0 0 0 0 

0 0 0 0 0 0 

(A) - (B) 

0 0 0 

0 0 0 

(D) 

0 0 0 0 0 0 0 

0 0 0 0 0 0 0 0 0 0 0 0 

- - .. ? -

0 0 0 0 0 0 

0 0 0 0 0 0 

(A) (B) 

0 0 0 

0 0 0 

(C) (D) 

0 0 0 0 
0 0 .0 
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180. The following table shows the courier charges in rupees for sending l kg, parcel from one city 
to another. 

Cities A B C D E 

A 10 5 15 10 

B 7 25 20 

c 20 15 

D 10 

E 

Among the following the charges will be least for sending parcel from : 

(i) AtoE 

(ii) BtoD 

(iii) EtoD 

(iv) C toB 

(A). (i) 

~ (C) (iii) . (iv) 

£19MmL ~LQJ61l...,.uSIW Sl® )!iail)'~'°1(!9,ii;~ ui!iJQ!DIT(!lj )!iaiV~!i>® 1 51.51. l>fQ)Lll.jSrQT Qurr(!9Q>QT . . 

~®JULI ~lb Q6QJQ.j (!ljUITuSIW j!jl)'LiuL.@mQT~. 

)!iail)'it.lailiir A B c D E 

A 10 5 15 10 

B 7 25 20 

c 20 15. 

D 10 

E 

£19liia;mLru!iJgJ1Gr <>r)iij!j @vm@ )!iail)'it.lai@jlii@) @61lLCIU &l®JUUUU@lb Qurr(!lj~ ulla;ii; @)Ql!D)iij!j 
Q6QJQ.j ~lb? . 

(i) A'°1(!9,liii/il Ea;® 

(ii) B'°1(!9,liii/il D.$@ 

(iii) E~@,liii/il DB;<§ 

(iv) C'°1®Jiii/il Ba;@> 

<A> (i) (B) (ii) 

(C) (iii) (D) (iv) 
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181. Match the List I with List II using the codes giv.en below: 

I II 

(a) Agriculture, Forestry and Fishery' l. Unorganised sector 

(b) Mining, Manufacturing; Electricity 2. Service Sector 
Gas and Water Supply 

(c) Trade, Transport and Communication 3. Secondary sector 

(d) Unincorporated Enterprises and 4. Primary sector 
Household industries 

(a) (b) (c) (d) 

.:/. 2 3 4 

3 2 1 

(C) 2 4 1 3 

(D) 3 4 I 2 

I II 

(a) 6tilaJ8'rrUJUi, s;rr(9 aJsni"u4, Lliar aJsni"u4 1. ~..,LDu4 B'ITIJIT §!"'ID 

(b) 8il)"ri.J~ :1iJ"'ID· 2..iiJu~. uSlEirB'ITIJ"LO, riaJrr14, 2. u...ilm §!"'ID 

®tq..ffirr 

(c) QJrr~~s;Ui, Curr8>(15aJIJ"~. Q~rr..,QJQp;ITLif4 3 . .@..,L~..,QJ~ §l"'W 

(d) .!PjQlLDLI4 B'ITl)"IT ~l!JIQJQl!ri.Js;ar, @)tq.QllD~ 4. (!Jl~QllD~ 191"'1D 
Q~rrWJros;ro 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 4 3 2 I 

(C) 2 4 I 3 

(D) 3 4 I 2 
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182. Which of the following is correctly matChed? · · · · · 

(A) Jatakas - Mauryan Geneology 

(B) Puranas - Ashoka's efforts to spread Buddhism to Srilanka 

(C) ,)>ipavamsa . 

(QY' Dhiga Nikaya 

- Socio-economic condition of the Mauryan period 

- Influence of Buddhist ideas on Mauryan polity 

tSlQ!ru(!!jtb a!Jilrrllfl"'11lw mll1Urra;u Glurr@HLiuL.~ _,-i!iJ? 

(A) !Jil1Tj58;1TGu Qwsffil1Uira;Q\1Qi lDl)'4 ruWJ 

(B) 41)"rrQ!ITUi <!>l<:i.rra;ir ld!JQJri.ia;rr66lw 4H ~~Li ul)"Li4rup;Ji>@i _,.@~B;Qa;rr<iorL 

QP1U!D6la;6ir 

(C) ~urul.b6tb - Qwsffil1UIT'5@jt0 lf(!jll5U Qurr(l!iQTITj61TfT ~9lQllljUl 

(D) fDB;~B;IUIT - Glw'1Till1Uira;Q\l.Qi ~1T611U"5lru 4HlDp;6; Qa;rrmroa;a;Q\lEiJ p;rrB;a;Lb 

183. Match the List I with List II and select your answet using the codes given below : 

List I List II' 

(a) Yakshagana l. Maharastra 
(b) Tamasha 2. Karnataka 
(c) Raslila 3. Bengal 
(d) Yatra 4. Manipur 

Codes: 

(~) (b) (c) (d) 

1 4 3 
(B) 2 1 3 4 
(C) 3 2 4 1 
(D) 1 2 4 3 

LIL"f.IUW viQ!m!!J LIL"f.IUW @1T<ior@uir@m'-r!i;i!iJ. £aw Gla;rr@B;a;uuL.@mw ®JDltd@a;m C!..p;66l14LEir 
!Fi\llUITQIT 65i9lLrolU ~ir)i;Qp;@M~Ul : 

UL"f.IUWl UL"f.IUW II 

(a) IU5~'51TQITIT 1. lD'51Tl)"IT~"l-fTUl 

(b) pjlDIT~IT 2. a;irp;rrL15tb 

(c) l)"ITQu~Q)lf 3. aJri.J5rrsnb 

(d) IUIT~l)"IT 4. lD...ll\;l.ir 

®JDltd@: 

(a) (b) (c) (d) 

(A) 2 1 4 3 
(B) 2 1 3 4 
(C) 3 2 4 1 
(D) 1 2 4 3 
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184. Arrange the annexation of states. under the Doctrine of Lapse in chronological order and 
select the codes given below : · . 

185. 

I. Jaipur 
II. Udaipur 
III. Jhansi 

IV. Satara 

(A) II, I, III, IV ~II, II, I, IV (C) I, III, II, IV . (D) II, III, IV, I 

LSIJ!J\jlQl Qa;rrmQl&1Urrro tnrrpjlruffila;m @Ql-5&uuL.Lilli!i a;rrru aiiflQllfuu@~ £\jllii®!!515&uuL.@mm 
(15!6JuS@a;aflQ\l(!li,d;i91 lfITl1UITQT mlQlLQllU~ <;$ir,d;Qi!i@ : 

I. QaiiUu~ir 

IL Li!itU~iT 

III. e;iirQi.fl 

IV. lff>ITlflT 

(A) II, I, III, IV (B) III, II, I, IV (C) I, III, II, IV (D) II, III, IV, l 

Match the following : 

(a) Bhapesh Sanyel 1. Artist 

(b) SitaraDevi 2. Painter 
(c) KC.Arya 3. National Theatre 

(d) Girish Chandra Ghosh 4 . Dancer . 

(a) (b) (c) (d) 

~ 3 4 2 
4 1 3 

(C) 4 2 . 3 1 
(D) 3 1 2 4 

LSIQiai(!liQJ61TaJ!i>Ql!D Qurr~a; : 

(a) urr<:u~ ll'Qr1Urrro 1 . a;Q)Q) pj!y-rr 
(b) .fli!ilTIJ"IT <;$ml 2. SJ6l'il lU iT 

(c) <:&.el. 4iT1Urr 3. . ~IU p;m:..a;tb 

(d) ililil'w lfp;fjv <:&rr~ 4. JliL61T pj!y-rr 

(a) (b) (c) (d) 

(A) 1 .3 4 2 
(B) 2 4 . 1 3 
(C) 4 2 3 1 
(D) 3 1 2 4 
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186. 

187. 

Which of the following statements about 'Fundamerithl Right" ·18·1\-_u:~i ' · :' , · ' ' ... '. 
I. The Fundamental Rights are contained in Part IV of the constitution, · 

II. The Fundamental Rights are non-justiciable. 

· III. The Fundamental Rights promote international peace. 

IV. The Fundamental Rights guarantee the political freedom, to the citizens. 

· (A) I and III (B) I and II (C) III only cWIV orily 

·~ll\-LIUQ!L 1Lill61!LD8iQT urtn6hu £~~L Bi>.lDl!)l8i.nlru lfillllJITQTQlQJ <;TQ!QJ? 

I. ~gs:l11JrumtnutS1m u®~ IV@ru ~"1-uumL 1LillmLD8im ~Lffiillil14m-~~ . 
II. ~"1-LiumL 11...illmtnllim UJtnQliD~rrQi UJ QJ!,11ffii(!!)QJj!ilD(!!) ~uurr!iJu~ 

III. ~ll\-LILI61!L 11...illmLDllim umQTITL.@ ~mLD~mllJ C::tntbu@~&l!!>~ 

... '. 

IV. ~"1-LiumL 11...illmlDllim ®ll\-LDM~® ~l)'s:l11Jru llif>sb~'l~lf> QJ!,11ffii(!!)QJj!ilD~ 
IL~l)'QJ IT j!iLD.nl~c;ir!l>QT 

(A) I LDiiJl!)ltb III (B) I LD!iJl!)ltb II (C) III LDL@tb (D) IV LDL.@tb 

Match List I with List II: 

List I 

(a) 14 - 18 Articles 1. 
(b) 19 - 22 Articles 2. 
(c) 23 - 24 Articles 3. 
(d) 32 Article 4. 

A (b) (c) (d) 

( 3 2 1 
(B) 1 2 3 4 
(C) 2 3 4 1 
(D) 3 2 1 4 

LIL"!-llJQi I-QlQT LIL"!-llJQi II Lm Gurr~lli: 

u411Jru I 

(a) 61Sl~ 14-18 1. 

(b) 61Sl~ 19- 22 2. 

(c) 61Sl~ 23- 24 3. 

( d) 61Sl~ 32 4. 

®ifiluS@: 

(a) (b) (c) (d) 

(A) 4 3 2 1 
(B) 1 2 3 4 
(C) 2 3 4 1 
(D) 3 2 1 4 

List II 

Right to Constitutional Remedies 

Right against exploitation 

Right to Freedom 

Right to Equality 

ULll\-llJQJ II 

~l)'s:lllJQi uillllirrg 11...illmLD 

8'1)'1ifrLilJ~ <;T~l)'ITQT ILi\lQ>LD 

llif>sb~l)' ILi\lQ!LD 

~QJ 1Lill61!LD · 
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"188. ·Match the following : 

List I 

(a) 44 Constitutional Amendment Act 

(b) · 61 Constitutional Amendment Act 

(c) . 79 Constitutional Amendment Act 

(d) 87 Constitutional Amendment Act 

(a) 

~ 
(C) 3 

(D) 3 

(a) 

(A) 2 

(B) 4 

(C) 3 

(D) 3 

(b) 

3 

3 

1 

4 

(b) 

3 

3 

1 

4 

(c) 

1 

1 

4 

2 

(c) 

1 

1 

4 

2 

(d) 

4 

2 

2 

1 

(d) 

4 

2 

2 

1 

GTP.Nl3 

L 

2. 

3. 

4. 

List II 

Delimitation of constituencies on basis of 
2001 census 

Reservation of seats to last until 2010 

Voting age reduced from 21-18 

Privilege_s of each house of parliament, its 
committees and members 

UL"!-UJQJ II 

1. 2001 t05aiL.Qi!irrma; a;QllJTa;Qa;@uy 

.!91"!-LIUQ>LuSiru Ql!ilT@i~ LOl!)I QJQ>l)"UJl!)l~Qi 

4. UITl)"JT(5LOQJjD~QJ ~QQJIT(!!i .!9jQlQJu51Qi 5JjDUL.j 

~mQ)a;m • .!91i!i6M ®@5161.ir '°lDllJlili ~utSl611rra;m 
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189. The Central Administrative Tribunals were set up on the recommendations of 

(A) The Ministry of Law and Justice 

(B) The Indian Law Commission 

(C) /"fhe Sarkaria Commission · 

o1{ The Administrative Reforms Commission 

(A) !FLLLD LD!i>!1)1Li> it~MJ!6fl!!J ~gitM.<raLi> 

(B) @)i;:$}lLI il\:$1 ~6fl-lULD 

(C) 1Frrs;rrill1Urr ®@ 

(D) .ffilrr6Urrs; 8ir:$)(1lj~ @:i@LDLi> 

190. Consider the following statement : 

1. Rafael Nadal won men singles French open tenms tournament 2013. · 

2. This is Nadal's maiden French open title. 

. Whirf the statement given above is/are correct~ 

· (/r'(' 1 only . 

(E) 2 only 

(C) both 1 and 2 

(D) neither 1 nor 2 

1. irGuru )!iLrTW ii;..n!)!iuir uGl)"arlf 'ij)UQr GLar..nlw 20l31!J QQJQi!!Jrrir. 

2. @191~"" ~6llir @ii;oo (IJl6fl!!JlUrrs; 6fls;uu!iJ!lJILi> uG1Joolf 'iiluoo GLoo..nlao 61il<19ii;rr®Li:i. 

(A) ~OO!lJI LDL@Li> 

(B) . @1J...,LrT6lli91 LDL@Li> 

(C) ~OO!lJI LDW!lJILD@IJ.o.r@ 

(D) @'l.o.r@Li> @ru6flro 
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< 

191. Which one of the following term is not related to the option 'NOTA' in the voting system? 

(A) Against all 

(B) Negative vote 

(C) Disapproval of all the candidates 

~ Invalid vote 

(A) ~Q>Qrai@"@itb lir~hlfra> 

·(B) liT~iTlDQljD airrBi@j 

(C) ~QlQT~ CaiL.urrilTITa>QlQTILftD ~i.rrra.ifl~ 

(D) Q6'\JQJrri!i airr.i;@j 

192. Name the satellite envisaged io launch four tonne class of satellite into geo synchronous _ 
transfer orbit. 

I. GSAT-2 

II. GSLV-MKIII 

III. EDUSAT 

IV. 1NSAT-4CR 

(A) I only ~only 
(C) II and III only (D) IV only 

4 LQr liTQlL '1..msrQlp; 4Gl'il · a;rrQJ.i; a>LLQlSTuu@~ Ca>rrsruurrQlp;uSlru wrr!DJD liT~iT C:J!irrit8illl.Jmsr 

@QlQllf.i;Ca>rrm liTQlai? 

L GSAT-2 

II. GSLV-MK III 

III. EDUSAT 

IV. INSAT-4CR 

(A) I wL.@tb 

(C) II tn!ill!Jltb III wL.@tb 
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--.__: ___ _ 

193. Choose the correct answer : 
'' . 

Indira Gandhi National Integration Award 2013 was conferred to · · 

(/ M.S. Swaminathan (B) Sachin Tenduikar 

(C) Kasturi Rangan (D)" · LataMangeshkar 

(A) ortb.mfu. ii;rurrt.61,!brri!iQI 

(C) s;'1oi!jllifl i;rri.Js;Qi 

(B) 66fi!Qi Qum@ws;fr 

(D) Q)i!i!T tnri.J~,g;fr 

194. The CEO of Pepsi Co, and is one of the most powerful woman is 

(A) Sheela Dixit 

(C) Kiran Bedi 

(B) Seerina Williams 

(D{lndra Nooyi 

Quu51Gs;rr661Qi i!iroQJrotn s;L.@uurrL_@ Qeturu .8ll~s;rrrrlt1..Jtb tn!iJ!l)Jtb ~ aJmLife>i!i Qu~tn'81ilturrs; 

.$(!91!iLIU@UQJIT 

(A) ~Qlrr ~8;~~ 

(C) .$li;rQi au"!-

• 

195. One of the coral reef areas identified for intensive conservation and management is 

· (~ Lakshadweep (B) Pulicat 

(C) Pamban (D) Rameswaram 

(A) Q)Llf~ ~QJs;6ir (B) l.lrols;rrL_ 

(C) urrtbuQI (D) .@i;rrrGtnooaJi;rtb 
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196. Name the Nobel prize winner, who was awarded the prize, 39 years after he identified boson 
particle in his name? 

I. Francois Englert 

II. Peter W. Higgs 

III. Martin Karplus 

IV. Michael Levitt 

(A) I cB(n 
(C) III (D) IV 

l!iQi@lroLllJ Qu11Jiflro <:urrqrrQi ~®~1!11 iuiar@~"I-~ ~Qi 39 aJ(!!jLri.is;~Bi(!!i ~!D® C:)lirruro uiflB> 

Q U!iJ!!J 6l5i~(§IT60fl 

I. ~vrrQis;rru'.J9u orri.Jruri"L.. 

II. !SL.LIT W . .$l8;Qii 

III. LDITITL"!-Qr 1£1TrT~QTQu 

IV. thlBiC:s;ro ru6l51L.. 

(A) I (B) II 

(q III (D) IV 

197. The main website http://www.pib.gov.in is trilingual in 

(A) English, Hindi, Bengali 

(B) Urdu, Hindi, Bengali 

(~ English, Urdu, Hindi 

(D) English, Hindi, Tamil 

(A) ~ri.Jililrutb. ~)i;~. aJri.Js;Qtnrr($ 

(B) 11!..(!!j~. ~)i;~. aJri.Js;GltnrrWJ 

(C) ~ri.Jililrutb. ~· ~)i;i$) 

. (D) ~ri.Jililrutb. ~)i;~. :i!ithll9 
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198~ Which one of the following organization has won the Nobel Peace Prize for the year 2013?' 

(A) Organization of Arab Petroleum EXporting Countries 

(B) · Organization of Economic Cooperation and Development 

(~Organization for the Prohibition of Chemical Weapo~s 
{D) Organization of Petroleum EXporting Countries 

tSli;ir6ll{!!)QJQl6lJ!i>!lllGir "'.ffi~ S!® "'9!Qltnu4 2013-~th 4<iar1!f-!iJ&rrQl "'91QllD~MrrQl C:p;rruro· uifla; 

Q6UQr!!J~? 

(A) "'911)"4 QuL.C:l)"rrrolUJ 6J!iJ!l)ltn~ p;rr@a;a!li;ir Bi>.LLmtnu4 

· (B) Gu1T(!!i'1TIT!61TIJ" vi~m!,l!LI4 tn!iJ!l)lth 6lJ'1Tir8'1.$&rr~ "'91QllDLI4 

(C) Cru~uSIUJro 414ii;ri.J5QJQT ii;mL GlfiUQJ~!Da;rrQl "'9!Qltnu4 

(D) GuL.C:l)"rrrolUJ 6JW!l)IW~ p;rr@a;a!li;ir !1i>.LLmtnu4 · 

199. Who is the newly appointed Chief Justice of the Jharkhand High Court? 

(A) /ustice Ram Jethmalani (B) · Justice Iqbal 

(CJ{ Justice R. Bhanumathi (D) Justice Ram Shankar 

~rrira;<iaTL. lDIT~Q)~Qr LUJir UJtnQr!!J~Qr 4~ii;rra; ~UJuSlMUULL ~Q)Q)QllD MJulJ UJITir? 

(A) f,iju~ l)"rrth C:~~tnQ>rrQ\l (B) ff,~u~ @Biurrro 

(C) f,ijulJ l)"!T. urr~~ (D) ff,~u~ l)"rrth ll'ri.Ja;rr 

200. Who is the author of the autobiography entitled "My Journey"? 

(A) Pranab Mukherjee · ~P.J. Abdul Kalam 

p 

(C) Manmohan Singh (D) Kabil Sibal 

(A) . tSll)"-ITLI Qjl&irgjl 

• (C) wQrCwrra;Qf 5lri.J 

{B) 6)".!Si.Q~. "'91Li~ro a;Q>rrtil 

(D) a;tSlro 5ltSlro 
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